
Supplied by Cisco:
     4x M12 screw

Mounting kit
     8x M6x12 screw
     8x M6 nut
     4x M12 Washer
     4x Cisco adapter

A

B

C

D

E

E

E

A

A

A

A

B

B

B

B

C

C

D

D

Cisco Spark Board 55”   
Use PFS 3204 / PFS 3304
Install on top and bottom of strip

Cisco Spark Board 70”   
Use PFS 3206 / PFS 3306
Install on top and bottom of strip


